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Question Number : 1 Question Id : 5500531121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If £(0)=0, f(1)=1 £(2)=2and f(x)=1(x-2)+f(x-3)forx=34.5..., then
£(10)=

£(0)=0, £(1)=1, £(2)=2 2v8csn x=34.5... & f(x)=f(x-2)+f(x-3)
wod, eyt f(10)=

Options :

1.\_‘,I::r



11

10

Question Number : 2 Question Id : 5500531122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 - 4
= COs™ X +sin” X
If f(X)=— ol
SN X + €08~ X

4

’x e R, then £(2023) =

o

) cos’x +sin*x
f(x)=—— 3
sin” X +cos” x

VX eR ®o0d, e ¢ (2023)=

Options :

1

1.+

Question Number : 3 Question Id : 5500531123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



. then A™' =

—
—
=
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[asoc S e L e
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Options :

A BAF

1. %

, v 2A—A’

5w 2AT+A

. 2A+A’

4. % <

Question Number : 4 Question Id : 5500531124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1y L3

The rank of the matrix A= 2 2 -1 3| 1is

1 %1 i
XK 1 3]
238 A=|2 2-1 3| g £
T 1171
Options :
1. % 3
2.v 2
3 % 4
4. % 1

Question Number : 5 Question Id : 5500531125 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If matrix D, =diag(a,b.c), matrixD, =diag(3.3,3)and A is a Skew symmetric

matrix of 3 order, then Tr(D,D,A+DD,+DA+D,A)-Tr(D,+D,)=

ar9¢ D, =diag(a.b,c), &8¢ D, =diag(3,3,3) &o8odn A a8 § D8t HY

0 drgs wand, v\ Tr(DD,A+DD, +DA+D,A)-Ti(D,+D,)=

Options :



- 2a+2b+2¢-9

3a+3b+3¢c-9

2. %

3 % 3a+3b+3c
a b e

4. %

Question Number : 6 Question Id : 5500531126 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
: —2+1
The modulus of the conjugate of z=———1s
(1-21)"
—2+1
Z=—"—"7 030 Vocini o aINS) DITDOIW
(1-21)"
Options :
1
TR



4.% V-

Question Number : 7 Question Id : 5500531127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A e . . Z, —Z,
If z=2+%,z,=—1+4% and z, =1, then |——|=
' Z,—Z,
. . . 5 7y~
2,=2+51, 2, =—1+41 08a80 Z; =108, GOV |——|=
2=
Options:
V2
1. ¢

Question Number : 8 Question Id : 5500531128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The locus of the variable point z = x +iy whose amplitude 1s always equal to , is
RSAIP0 JVRDYE 6 D DAFID BB B0 Dodoy z=x +iy dws)
Dotk D

Options :

# ) i) 7
X +y =tan"Q

5 y=Xxtan0

%2 2
7 | = 1

. il —i_ 2 =
5 x SO cos 6

2 2

X" i i
sin“® cos’ B

Question Number : 9 Question Id : 5500531129 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



15 the real toot and B. y are the other roots of the equation X’ -2’ =0 (a>0),

-

. . . Via
then the number of common points of the curves given by z—ﬁ‘ 5y and

-

z—*f:—Juis
e-1=-

-

x-a=0 (a> 0) 20EOEPS o TR Saredn $B050 B, ¥ 0 986 rerw

J3a

2

:TJG_ 3% mb5mdé Szrod fdo

BB, WY\ ‘z—ﬁ‘ =— ododw ‘z_«{

&:a30) ¢ DYV P03
Options :

’I.?;"‘;{J

(§]

4. 1

Question Number : 10 Question Id : 5500531130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

- x> +2x45
For x € [k . the minimum value of

- Is
X" +4x+10

033.356 S.EJ;& e

Options :



2 | —

W |

¥
= w

F | =

Question Number : 11 Question Id : 5500531131 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If « and B are the roots of the equation 2% —3(23K+2 )—.32 =0 with f < 1. then
20+3p=

@ 20B0% B (B < 1) e 22060 27 -3(27 )+ 3220 cibog) e,
WD 200+3P=
Options:

-
—=)

1. %



Question Number : 12 Question Id : 5500531132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If of and y are the roots of the equation x’-ax’+bx—c=0 then,

G—Z_E—E_I_T—l "

5d6mo X A%’ +bx-c=0 g Mreren 0. DB 7 G8, e\
i

Options :

b” —3ac

C

b? —ac

]

> y
b™ —2ac

2
C

b* —4ac

L)



Question Number : 13 Question Id : 5500531133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 0,,0,and oare the roots of X’ +3x+2=0,then o’ + o} + o =
011, 0, 208050 0300 X +3X+2=0 g, Qrergsd, o\ 0] +a;+0; =

Options :

Question Number : 14 Question Id : 5500531134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

(L+2x) 2 18

tad | =
b | s

g 3 oY ; ; "
The coefficient of x” m the expansion of (1-3x)

i 1

1-3x )3 (1+2%) 7 3. D0 x> GBg. Hndo
) b s

Options :

b |



b2 | s

ra | =

1 | =

Question Number : 15 Question Id : 5500531135 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(3++8) +(3-+8)

5

Options :

6926

6826

6726

6626

Question Number : 16 Question Id : 5500531136 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
€ B €,

~ i) C _
If C_stands for b e — 23 o
j 2 22% 32 (n+1)2"

C, '
1C.40 C. 82D, )¢ —2+ - e ———
i > ) S T2 T3 T (na) 2™

Options:

qﬂ
2™ (n+1)

~0+1
0

2 54 1)

Lok

2% (n+1)

-1+l

2" (n+1)

Question Number : 17 Question Id : 5500531137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of arrangements of the word KAN G AR O O in which As™ do not
appear together is

Aw 9908 oo KANGAR 00 o3 o ding), 00850 203



Options :

L« 7650

7560

Question Number : 18 Question Id : 5500531138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
IfA= {[a,b) 4a=5b; a,befl2.3... .30}}., then the number of such ordered pairs
(a, b) is

A={(ab):4a=5b; a,be{1.23...30}} eand, vy wired goaime
2, b) & Doy

Options :

1.% 4

2.¢# 0

3.@"‘€8

4 = 10



Question Number : 19 Question Id : 5500531139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If 10sin*o +15cos*a = 6, then 16tan’c+27cot’c. =
10sin*a+15cos* o = 6evo0e3, DION-2 16tan’°c.+27cot’o =

Options :

w43

N
®
1 4
S

L v 62

.
o

Question Number : 20 Question Id : 5500531140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If smb= = and 0 1s not in the first quadrant, then 15sin26-20c0s 26 -7 tan 26 =

. 3
smElzg So80to B ocseh ¢l TS, WYyt
15sin26-20c0s20-7tan 20 =
Options :

—4



Question Number : 21 Question Id : 5500531141 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
[1 +5ec 28] [1 +8ec 48] =

Options:

tan 0 tan46

4cotBtan4o

cotBtan46
3. ¢

4tan 6 tan4d6

Question Number : 22 Question Id : 5500531142 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



cot16° cot44° +cot44° cot 76° —cot 76° cot16° =

Options :

Lad

Question Number : 23 Question Id : 5500531143 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC, if cos’A+cos'B+cos’C =1, then AABC is

AABC &° cos’A+cos’B+cos’C =1 esand, B3\ AABC 28
Options :

an equilateral Triangle

RaVLTETN BZVRO

an 1sosceles triangle

:baﬁoc?.ugwm G200



a right angled triangle

20805t B0

a scalene triangle

. 208 DD LY GFLRAD

Question Number : 24 Question Id : 5500531144 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If tanA=tano cothx =cotP tanh X, then tan(a+p)=

tan A = tano cothx =cot tanh X evoowd, o2 tan(ou+p) =
Options :

cosh 2x cosec2A

, » Cosh2x sec2A

sinh2x cos2A
3. %

v sinh 2x cosec2A

Question Number : 25 Question Id : 5500531145 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC, ifa, b, care5, 12 and 13 respectively. then b’sin2C +c’sin 2B =
AABC & a,b, ¢ 00 S63m 5, 12 080 13 eowd, )yt
bsin 2C+¢’sin2B =

Options :

Question Number : 26 Question Id : 5500531146 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. BT BF
In AABC. +—= =
a b
. E—F #4;=4
KABER, &t — =
a b
Options :
d
L b



Question Number : 27 Question Id : 5500531147 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC.if (a-b)(s—c)=(b-c)(s—a), then 11,5 are in

AABCE’ (a—b)(s—c)=(b—c)(s—a) wond, DY 1,1, L0 GOG 3
Options :

Arithmetic progression

908 3G
v

Geometric progression

. the 38

Harmonic progression

o) S 3G



Arithmetico — geometric progression

0% — (O 36

Question Number : 28 Question Id : 5500531148 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

6x° +7x° —14x +11 b c d a+b
—a+ £ + , then —— =

- |
6X +X -10x+3 X+p QX+3 3x+p p+q

6%” +7x% ~14x +11 b ¢ d a+b
— =a+ - - BB, WYY ——
6X" +Xx 10X 43 X+p QX+3 3X+p pP+q

Options :

1.¢ 2

I
| b9

| D

Question Number : 29 Question Id : 5500531149 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the position vectors of the points A and B are 21+33—E and i—}:EE

respectively, then the unit vector along BA and in the direction of AB is
A 20Boso B 3 Both Dot F06%e0 Sare 2i+3j-k dobaty
i—j+2k wond, AB 8% cobxr BA dowd o abrdiS HO%

Options:

]. - T :

EI

1. %
l = T =
— (—-i—4j+3k)
5> @ 26
L e -dia B
—— ] =]
3. % m
1 (3i—4j+3k)
M —97]+:
4, % \/i J

Question Number : 30 Question Id : 5500531150 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let ‘O be the origin, A and B be two points with position vectors 3i-3 ] 4k
and 4%—4]—5@ respectively. Let P be a point such that the line drawn through P

parallel to OB meets OA in L and another line through P parallel to 0OA meets OB
inM. If L divides OA i the ratio 2:3 and M divides OB in the ratio 3:2, then the
distance from O to P 1

‘0" D Arw Docad), A 20Bakw B ew G -3i-3j+4k Qo 4i-4j-3k
) fg% DETO o Boch Doduaen endemro. P dvod 0B % diroddorr
A B 0A %0 L ¢ S0baty P dvod A% drosdorr A &8 G OB
M 6 socos&urr P s Dodo edvsoorro. 0A & L dodoe 2:3 dind
&', OB D M Dockoi) 3:2 @S &r aseiosl, 0Pyt 0 dvod P& tho
Ardo
Options :
19

1.4 2

\/389

2, ® :
341
3. % >
21
B
4, %

Question Number : 31 Question Id : 5500531151 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For a positive real number % . if the vector a =Ai-5j+6k satisfies the equation

(i ) <ok =440, ten .-
08 5 TR B0 1%, a=i-5j+6k e 263

{ix(axi)ﬁx(aXJ)_.EX(BXE)T =440 HDIOEPD) S0k, By A

Options :

4 % 11

Question Number : 32 Question Id : 5500531152 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 1_3 =4i-1+k 1s a point and (_1: i 2]—: 6k is a vector, then the perpendicular
distance of origin from the plane passing through 13 and perpendicular to a 18
P=4i-j+k a8 Docod) 2Bk q=9i-2j+6k s H6% wond, i\

D Aordr q % om0 God e 20d PN (e VorErde

Options :

1.«'/4



Question Number : 33 Question Id : 5500531153 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let a=3i+j-2k b=-5i+7j and c=3i+yj be three vectors such that

a—b+ c‘ =+/141. If'y; and y; are the values of y satisfying the given condition, then

i %,

a—bf—;c‘:m SOV 5:5‘;—.3—2}:. l1:—5i+'7]. E:S_Hyje.u S0red

P& 3uRIDTR. Y1 B0 Ty v BSAr) SrBodiobn &by Y cing)

DRV BAS, WYY ‘}-’1 ~Y,
Options :

% 12

2. » 1



Question Number : 34 Question Id : 5500531154 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An analysis of monthly wages paid to the workers of two jute mills A and B gives
the following data:

Mill - A Mill - B
No. of workers 500 600
Average daily wage (in rupees) 186 175
Variance of distribution of wages 81 100

Then

Gocty 205 ewew A, B 08'D 5703 9dyd dorody 3w Sod

BZoTR) 08,

e - A e - B
DRT0 03 500 600
Farard debw ddo (drarobheds’) 186 175
E8°0 CIE) DTS DY 81 100
w@bdj
Options :

wage bill of mill A is twice that of mill B

Qe A 38ocd dorew Dew. e B 3o oS 580D

1. %



mills A and B both have same wage bills.

Qe A 2080w e B e 3o e Deewn ddrdo.

®

wage bill of mill A is greater than that of mill B

i e A 380 2070 Dew. W B 380l ardST) 5D
3.

wage bill of mill B is greater than that of mill A

0 B ©9ow oo Den. e A B0l &SI IS D
4.9

Question Number : 35 Question Id : 5500531155 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a test a student either guesses or copies or knows the answer to answer a multiple
choice question with four choices. The probability that he makes a guess is 1/3 and
the probability that he copies the answer is 1/6. The probability that his answer is
correct, given that he copied it is 1/8. The probability that he knew the answer to the
question, given that he answered it correctly is

w8 DOEY Treurh adyso $8AD g B D, ws Iy arod) e 0 B9
Gor DATEEH0 BV @ TR, & Dw’ﬁg earoid Dogrdjd 13 dodat
DArETR) ) 090 R0g7i3( 1/6. 03¢ T B DAFEEH0 TRH 7, ¥
OAHVE AR (o #Joegﬂ‘algé 1/8. 98¢0 TS TP rEeao ABARME 99
@DQK);’;)Q(:J, 930S €8 WAFETN0 3D T o) mm}p

Options :

1. %
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Question Number : 36 Question Id : 5500531156 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A and B are mutually exclusive events of a random experiment and P(B)# 1. then
P(A|B)=

A 000y B ew a8 Cxi:“cé&abs NoIrdo O"JJJSZJ EJCSK}DCS Daﬁgej SAR IV VoToM
P(B) 21 w0, wiyth P(A[B°)=

Options :

P(A)
, 1-P(B)

P(B)
1-P(A)

2. %



P(A)

, . 1+P(B)

P(A)
L« PA+P®)

Question Number : 37 Question Id : 5500531157 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A, B, C are three horses participating in a race. The Probability of horse A to win
the race is twice that of horse B and probability of horse B to win is twice that of
horse C. Then the probabilities of horses A. B and C to win the race are
respectively

28 DA 0808 A, B, 6 Qured Aogren ¢ o) ow. i A oo
(03 doaredid g B feniy) doardideh 580w 2Baky Mg B Hodo
9GS Dografd, thiw € fruy doeraid 6oy iyt A, B obatw €

D gaen & Dodo AOD "eooe,?bﬁejw SEDT

Options :
N

1_%?,? 7 7
125

, 4 6 6 6



ta | =
~1 | =

| =

~1 |

~1 |
e

4. %

Question Number : 38 Question Id : 5500531158 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



Three boxes By. By and B; contain balls with different colors as follows:

White Black Red

By 2 1 2
B, 3 2 4
B, 4 3 1

A die is thrown. Box Bj is chosen if either 1 or 2 turns up. Box B is chosen if 3 or 4
turns up and box Bs is chosen if 5 or 6 turns up. Having chosen a box in this way. a
ball 1s drawn at random from that box. If the ball drawn is found to be Red. then the
probability that it is drawn from box B, is

S0rcy 0 By, By B3 8" wodoen $ods BN® dorl” D) .

3090 v 6D

B 2 l 2
B, 3 2 4
B; 4 3 2

8 O BBorrdd. aPDS doowep 1 Goe 2 39, 28 By & Jocdosootrd, 3 G
4 5 4] B) & dochgootrtd, 5 I 659 28 B3 Q Jothgotrdd, & o w8
DR o) 3, TR B00é w8 2 AT dorr ST, BEr SO wed
608 wond, ©d o8 B, 008 ;513() SRS

Options :



Question Number : 39 Question Id : 5500531159 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One out of 9 ships 1s likely to sink, when they are set on sail. When 6 ships are sef on
sail, the probability that exactly 3 of them will not arrive safely is

D03 DVEMD 9 kol 288 100A J'e Hdrcio Pob. 6 beken
DOIPER A3 RG0S, TS HOT Sured Seken Edvorr SELT IS o
K)oe,ra‘)éefa

Options :

s

1. % of




Question Number : 40 Question Id : 5500531160 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If X 1s a random variable such that

. : B ]
P(X=-2)=P(X=-1)=P(X=2)=P(X :1]:8 and P(X =0)= —, then the

3

mean of X 1s

| . 1 ; ]
P(X:—2]:P{X:—l):P(X:E]:P(K:I]:E ook PX=0)= =

b
ORI X 28 CUrES Ut ond, @)\ X dws) oS0

Options :

2
3

h| el

Question Number : 41 Question Id : 5500531161 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

£ 7 )
. . 3at  3at” | .
If t € R—{—1}. then the locus of the point ‘ e B - | is
. L ]._TJ ].+T !
[ 3at 3at® )
teR—{-1} eand, b J Dotk G3ne), Docddeso
Tt i

Options :

g2 y3 — 33};2}72

1. %
3 2 2 3
X —3ax'y—3axy +y =0
2. %
3 3
X +y —=3axy
3.¢ -
3 3
X —y =3axy
4, %

Question Number : 42 Question Id : 5500531162 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The centre of a square of side 4 units length 1s (3, 7) and one of the diagonals 1s
parallel to the liney=x. If (x,.y,). (X,.¥,). (X,.y; ) and (x,.y, ) are the vertices of

YiYa¥s¥a _
X X, X,%,

this square, then

Zao FEHR0 4 ardbore 1O wg S8R0 Sogo (3. 7) H08okw T ws

D8G5 y =X B MArodBorT &od. (X,.,). (X,., ). (X,.¥;) 0B8asw (x,.y,)

0 & Yo T IR0 Bowd, B\ LIREDED I
XX, %, X,

Options :

1.v 8l

245

Question Number : 43 Question Id : 5500531163 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area (in square units) of the triangle formed by the lines x =0, y=0 and
3x+4y=12 1s

x=0, y=0 S08a0 3x+4y =120 dood :Ddbciaﬁ gao A STV
(2 oS’



Options :

288

72

a.% 7

Question Number : 44 Question Id : 5500531164 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let origin be the centroid of an equilateral triangle ABC and one of its sides be along
the straight linex+y=3. If R and r are its circum radius and inradius respectively,
then R+1=

ABC &9 dadvariro Gabno aing), Sogo &xre Dothi) Hodakw & Gabao dng)
28 2o X+y=3 0D dowd gods. R Bodw rew SR e Sabao cﬁwsgj <%e)

Sogo 38050 B086 Sogo oS, WIY\E R +1=

Options :



Question Number : 45 Question Id : 5500531165 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the line common to the pair of lines
(p* - )X +(q -1)xy + (" -p )y =0 and (Fm)¥’ +(111—11)}{jf—:(n—;’)}r3 =01s

(-0 )X+ -1 )y +(-p)y =0 060

(Fm) Hm-n)xy + [@-Ny=0 H6¢ Carainf & &:o)6 A6V 5ad ciog),

2060
Options :
- X+vy=0
1. % -
—wv=0
2.9 ==l
X+y=pqr



L XTY=P@

Question Number : 46 Question Id : 5500531166 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The lines L, : y—x=0and L, : 2x+y =0 intersect the line L,:y+2=0 atPand Q
respectively. The bisector of the acute angle between L; and L, intersects L3 at R.

Statement 1: PR:RQ = Zﬁ\ﬁ

Statement 2 : In any triangle, the bisector of an angle divides the triangle into two
similar triangles.

L;:y-x=0 8o L, :2x+y=0 Saven Ly +2=0 Sapio P oo Qo ¢

ST Docvod. L Lbosw L mcﬁsdu o 56 mmﬁsaaodé o, 13

R 8¢ spocd08

3590 1: PRERQ =225

5590 2 1 IFT G50208" wé § B0t B, & 50\ Gocd
NEFD GHEFT DHEA.

Options :

Statement-1 1s true, Statement-2 1s false

o0 1 “nnejSém, aeordo 2 e_a;bejém
1.

Statement-1 1s false. Statement-2 1s true

DODD0 1 0S50, PHBHO 2 DS
2. %



Statement-1 and Statement-2 are both true

DBS00 1 20850 HBB0 2 Boka DB

Statement-1 and Statement-2 are both false

03530 1 208010 DBSD0 2 Bocr RSB

Question Number : 47 Question Id : 5500531167 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In AABC, if the midpoints of the sides AB. BC and CA are respectively

AB’ +BC? +CA?

(1.0.0).(0.m.0)and (0.0.n). then —5————
o ["+m +n

AABC&" AB, BC obasn CA © Q] Do SERTT (1.0.0).(0,m.0)

. AB*+BC* +CA’
208050 (0,0,0) ®aB, W) e e
: ["+m +n°
Options :
1% 2
2 % 4
3. v 8

4 % 16



Question Number : 48 Question Id : 5500531168 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A(2.3.5), B(0.3.3)and C(7,5.p) are the vertices of a triangle. If the median

p

through A is equally inclined with the coordinate axes, then —=
a

A(2.3.5). B(0.3.3) S08asw C(7,5,f) eo a8 Szhowo cwg) 3gen. A tho

Jab Qo6 (58 B AEFISTFOS 2P As0) 850 $DA 08, B i &

u
Options :

1.¥ -9

Question Number : 49 Question Id : 5500531169 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equation of the plane passing through the point (1.2.2) and perpendicular to the
planes x—y+2z=3and 2x-2y+z+12=0, i

X-V+27=3&00%0 2X-2y+2+12=0 0 wotorr &otwr, (1.2.2) Hotdd)
hoee Vo derdd HEGe0
Options:

X—2v+27z-1=0

- 2x—-3y+4z—-4=0

X4+ v+ z=35=0
3, % g

Ly y—3=0

Question Number : 50 Question Id : 5500531170 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let the locus of the point of intersection of the perpendicular tangents drawn to the
circle x+y™+6x—4y—-12=0 be the circle S. Then the equation of the tangent
drawn to S which is perpendicular to the line 6x—4y+k=0is

X+ 7465 -4y -12=0 Sy A% wow 6 G20 0cd 06 s
Doty HFR) Bdo S wko8od. Wyt X4y +k=0% voworr gl § &
Aadead 9\6) B2 Cug) D00

Options :



- 4x+6y+ /26 =0
o 2Xt3y+ 426 =0
3 o 2XH3y% 5v26 =0

4w AXH6YE 5426 =0

Question Number : 51 Question Id : 5500531171 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance of the origin from the external centre of similitude for the circles
x'+y -8x-10y-8 = 0 andx" 4y’ +2x-2y-2 = 0 is

X +y -8x-10y-8 = Osobato X’ +y +2x-2y-2 = 0 & T
FErerir| Sogo 00c, 7w Do do (rdo

Options:

326

L 4

1. %




-2
e
=

Question Number : 52 Question Id : 5500531172 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let the equation ax’ +2hxy + by’ +2gx+2fy+¢c = 0 represent a point circle other
than the origin. Then which one of the following conditions must hold?

ax’ +2hxy+ by’ +2ex+2fy+¢ = 0o 2080, darw Dochd) 5 ws Hocky
H)TR) AFDRVOSDOTR0. By & 06 AAres” A6 S \dore
FocsHRN HR008?
Options :

1 D=0

b=0andc<0
- b=008aciw c<0
2_%-5

b<=0andc=0
- b<=008ac30 ¢c=0
3.



b<0and ¢ < 0

b<008a30 ¢c<0

Question Number : 53 Question Id : 5500531173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The point of itersection of the tangents drawn at the points where the line
2X-Y+3 = 0 meets the circle x’ +y’ —4x-6y+4 = 0is

2X-y+3 = 0 6% 8 X’ +y ~4x-6y+4 = 0 9T 0cod DoV H¢

AR 08 foF33) AR08, Dt Do)

Options :
15
[—3-71
1%"5 L4 =y A
['—5 21)
2 4.
2. ¥
"i —_—1“‘
. x2 — A
3. ® '
f 1580
g 13
x 2 .f'



Question Number : 54 Question Id : 5500531174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If S=2x"+2y -8x+8y-7=0 is the circle passing through the points of

intersection of the circles x*+y+kx—ky+1=0and X+ y'~kx +ky-2=0, then
the length of the tangent drawn from the point (k, k) to the circle S 1s

X +y Hhx-ky+l = 080k X7+ ~kx+ky-2 = 0 Syzr0 potd
Dotoipe fooee Lk Sydo $=2x"+2y" -8x+8y-7=0 eand, ey (k.K)
Dockoy) o o S L AAD 26, B T

Options:

3
.

2.% 2
23
)
3.% 1 7
23
4. %

Question Number : 55 Question Id : 5500531175 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let { e the directrix of the parabola 9y" +12y+9x-14 = 0 and ; be the line

passing through the vertex of this parabola and the origin. If (h. k) is the point of
intersection of £ and /. then h+k =

9" +12y+9x-14 = 0 Oordwaio G, Aabe SR [ wf) , & Hrriwaso
G, 360 &Bak Sreoddd) ol G [} 009 evdodoomo.

[ 208050 1 © pocd Docosd (0. k) wowd, epd h+k =

Options :

Question Number : 56 Question Id : 5500531176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let the point L lying in the first quadrant be one end of a latus rectum of the ellipse

ol & . .
Fi +—=1. Let P and Q be the pomts where the normal drawn at L to this given

)
ellipse meets the major axis and the minor axis. Then the distance between P and Q
is

5

068 o8 &od L e Docoed), %—% =] cfﬁgaﬁ&g’?o aiws), Toowo )
28 eod( Dotodngorro. B8 OGHTAS L 26 f)d edwow 6o, OTED)
080 ZAER) Pododd Sb &) Docken P ddosw Q wigorro.

02tb P 598080 Q & xS 6o

Options :

Question Number : 57 Question Id : 5500531177 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let X- axis be the transverse axis and Y - axis be the conjugate axis of a hyperbola
H. Let the eccentricity of H be the reciprocal of the eccentricity of the ellipse

X ¥ s — : .
T+}?:1 . If (5. 4) 1s a point on H, then the length of the transverse axis of H is

28 wanTarocho H ::Ex:osEj adﬁé 095500 X- 095300 dain fooo:imméém

Y - w350 siosooryo. H abog) 6088, —+1=1 8380 diog)

) 49 e
&:3), 008 00, (&0 oo, Hp (5, 4) w8 Dothodd, H aios), &6
%500 TED)

Options :

4% 10

Question Number : 58 Question Id : 5500531178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o

. B Xy
If a normal drawn to the ellipse IJT =1 touches the hyperbola ?—% =1, then

i

the square of the slope of that normal is

) g,

3 3
L

XTJF%:l égaﬁgbg fd oo B, %—;:1 O3VTHVOITY {*3:,3%?:?-
- 3 3 x
03 ©92)08) DD a7 aRog); 6o

Options :

i+\/ﬁ

4

417

2. ¢ 4
—]+\/§
3. % 4
1++/37
4, % 4

Question Number : 59 Question Id : 5500531179 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



; 12 . - .
If f(x)=3x+—1s confinuous on R—{O} and M is its maximum value, then
X

i -

R-{0} 2 f(x)=3x +E DRao @)yD) 0 WHEr Dban M & aiwsg),

X
(8 desd wowd, lim f(x)=
e 1—M
Options :
1 % 37
> =37
2
3. %
_
4. % — <

Question Number : 60 Question Id : 5500531180 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, 1+/1+4log, x
If lim =m. then m(m—-1)=

x=2 24+ (2% +8i0° X + 205 X)(2X — 4)

1+4/1+4log, x
lim — =m od, P\ m(m-1)=

=2 2+ (2X + $in” X +2¢0s X)(2x-4)

Options :

1% 0



2. %

3.v 1
1443

4% 2

Question Number : 61 Question Id : 5500531181 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax+bx+e, x<-1
If a function f(x) defined by f(x)={2x" +4x+1 -1<x<1 is continuous on R,

o’ +bx+a x21

and lin}f (x)=14, then lim f(x)=

x—-2
X——
2

ax’+bx+c, x<-1
f(x)=42%" +4x+1, -l<x<1lr QISR £(x) DDooko R e9dedyd)

cx’+bx+a, x21

080w lingf(x):lél 09003, R\ lim £(x) =

Options :



Question Number : 62 Question Id : 5500531182 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

d( ¥
dx| (x+2)(2x+3)

A B

If Y = &
(x+2)" (2x+3)

! = % then A+B=
/

d| % A B
= —+ — 29008, DD A+B=
dx| (x+2)2x+3) ) (x+2)° (2x+3)

Options:

w172

Question Number : 63 Question Id : 5500531183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If aeR- { l} and f{ H‘{‘ M 1‘ J|. then the number of points at which f(x)

is not differentiable. is
o e R-{-1} &odato f(x ‘ )=|([x]+a)(jx-1) 1‘ w0d, e f(x) 9 ¢
IS0 THY Dot o2
Options :
3. when a<0

<0 e 3

1. ®

5. when o >0

L 4> 0 e200050¢0 5
2.

4. when o >0

o >0 oD 4
3. %

5. when o <0

4 o <0 9000000 5

Question Number : 64 Question Id : 5500531184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

t+1 )
If f(t _—+—10U 2=1). then T
) 2 4 ( ) ‘2t+1‘
& L B
f{t)————loo(’?t—l)@mé ZION-S £ J

2 4 kzrl



Options :

1.8 1

, o 1t

2t+1

4, % =1

Question Number : 65 Question Id : 5500531185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 6 is the angle made by the normal drawn to the curve X =e' cost, y=e'sint at the
point (1, 0), with the X-axis, then 6 =

x=¢'cost, y=¢'sint 9503 (1. 0) Dockoid) 96 A ewdewoey G, X-w508 0
o &9, CONSIEE
Options :

,
1 gl

/4



Question Number : 66 Question Id : 5500531186 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a normal drawn at a point P to the curve y=smx passes through the origin. then
the locus of P is

y=sinx 9503 8 Dockdid) P ¢ ) s edvow 8, Srodocdiy ot

S, P ag), Dockodo

Options:
2 2 4
X — %7 _1,'|'_.'
| - Sl
5 % xpy=l
1
'i_ ]:1
.
3. % -
1ty
},4 x*
4. %

Question Number : 67 Question Id : 5500531187 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
2 4 R s
An extreme value of f(x)=——+ —in(0,7/2)1s
smx l-smx
; B i 4 1
(G.m/2) & I{x)= + WBWE), WS oy LD

sinx 1-sihx



Options :

1.«/’9

Question Number : 68 Question Id : 5500531188 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the tangent drawn to the curve y=x"at a point (a, B) cuts again the curve at

B,

another point (ct,,p,), then = =

y=x' 5394 (. f) ¢ A 2018182 8 &8 S B'S Dockory (o,fy) 56

20CY, B — P _

Options :



Question Number : 69 Question Id : 5500531189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- dx B

J EN
(2ax +X7)?

Options :
1{ (x+a) )
| ——|+C
=1 % O |
a”\ 4f2ax+ X" )
’|_%ﬁ5
i{ %~ )
- r—‘+C
a_ll ’jax K
2_%5
—1| X — ‘
a |~J’7’T~:+\
3. %
1|“ ) & ‘
az| ,
4 2aX +x°

Question Number : 70 Question Id : 5500531190 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



f 1 l\l

If f(x)=limn?| x* —x** |, x>0, then Jx f(x)dx =
f 1 SN
f(x)=limn*| x® —x*! |, x>0 ev00d, e_at’.;}_')\djj‘x f(x)dx =
n—+m ko
Options :
52
‘?log}:—c
1. %
2 2
% %
—logx+—+C
2.% < 4
2 2
X X
—logx—+C
3.¢ *
2 2
X X 1
—.—iﬂg}{+f+(
4, ® *

Question Number : 71 Question Id : 5500531191 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

l1-cosx
J dx=
cosX(l+cosx)
Options :

10g‘5ec X + tan K‘ —2(cosecx—cotx)+C
1.9



log ‘sec X +tanx|—2(cosecx+cotx)+C

2. ®

loglsecX +tan x|+ 2 (cosecx—cotX)+C
3.

log ‘sec X +tanx|+ 2(cosecx+cotx)+C
4, %

Question Number : 72 Question Id : 5500531192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

g(x) is an anti derivative of f(x)= 1+2%log2 and the graph of y = g(x)passes
i .
; —1,— |. Then the curve meets the Y — axis at

!

througl

f(x)=1+2"I0g2 aiwg), &8 HAT wdgudw g(X) waw Lo ¥=

e

(%)
), Bar Do [ -1% f Dockoid) thoe A'ad. o ¥ =g(x) 95,

!

Y - 0z o8 Dok
Options :

RV
L v (0.2)
. (0,-2)

3.

4. %



(1. 1)

Question Number : 73 Question Id : 5500531193 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If [—

1+x

1

dx = A(1+%x%)2 +B(1+x%)2 +C, then A+B=

1

+B(1+x)2+C e9a0d, 0\ A+B=

3

IL dx = A(l+x)

[

)| =

|
) | =

Question Number : 74 Question Id : 5500531194 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



ght.=

1++/cotx

O | =] ey, L |
ja—

Options :

& [E

2 | A

| A

Question Number : 75 Question Id : 5500531195 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The area bounded by the curve y=x"and y—6 = —‘x‘ is
BYA0 y=X HoB0Kn y-6=—|x| 0B DGR PTOHL

Options :

37




i -2
.| 8

Question Number : 76 Question Id : 5500531196 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fmeZ, n=2mand |sin"x cos”x dx =K(m) |sin" x dx. then

= e L
0 e 1 | H

2" (m-1)!
Dl )
(2m-1)!

L

d
=N

meZ, n=2m 805w Jsium X cos" X dx = K(m)J
0 0

sin™ X dX e0nd, e\

m-1 - 1
: - K(m) =
(2m-1)!

Options :

1 1 1 1
m+2 m+4 m+r 3m

1.9




T 1 1 1 1
2 m+2 mEd omaEr 3m
3 %
T 1 1 1
Ty s
4 % 2 2m+2 2m+4 3m

Question Number : 77 Question Id : 5500531197 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
51 t 1)
If 5f(x)+3t i‘:2—1. x=0, then‘[t[—de:
X ) X % A
TR o Ik 1 | Ak e
SE(x)+3f] — [=2-—. x=0, ®and, &oPyd _[f‘— dx =
| LX) X X
Options :

gt
o
(=’
P B =
[
I
-]

2
1.4
6log2-17
5 % 32
6log2 -1
32



6log2-7
16

Question Number : 78 Question Id : 5500531198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let c,,¢,,¢,,¢, be arbitrary constants. The order of the differential equation,

log.x e e il :
+C, S0 .\—ci(cos x—1)is

corresponding to y=ce” +c,e

0}, €y, €5, OITEENS D8 T3000 BRVDOTTE.
= Q
=gt +0,e " sin’ x -, cos” x-1) § dorbmor o edgeR Hadstmo
a03), DOLFEAN
Options :

1.% 1

Question Number : 79 Question Id : 5500531199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The order and degree of the differential equation

R {33
3x’ _ } _sin| ﬂ +cos(xy) =0 are
dx~  (dx,
. Edﬂy | llf dEY‘-.
dg0D D60 3X P —sin | e +cos(xy)=0 aos), DOX°EI0 O
X L dx” )
Sddden
Options :

Order can’t be defined and degree is 3

2850 :}dSsz:sejm SB803L 4G 3

Oder is 3 and degree can’t be defined

288570 3 D080 SSHS Qdc\_rﬁmﬁﬁm

Order 1s 3 and degree is 1

280070 3 S0d0dw SSHS 1

Order 1s 1 and degree is 3

D00 1 HSodad 608G 3

Question Number : 80 Question Id : 5500531200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(¥}

i

. : P\ A
If y=y(x) isthe solution of xd—“:yﬂie \x
X

: y()=loge. then y(e)=

B

Xj_y:?*’”e_';!' y(1)=loge amog) 63 y=y(x) wand, ey y(e)=
X
Options:
/ ™
log l—.l
\ e
1. #

elog(l+e)

2. ¥
e lﬂg; —+1
3, % ‘
g &
| |
elog 1-— }
\ €
4, %
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Question Number : 81 Question Id : 5500531201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5

= : ; ¢
The dimensional formula of a physical quantity represented byﬂ is
eh
[ e is the charge of electron, &, is the permuttivity of free space. and h is the Planck’s
constant]

A
&

1o, S0l FAS T3 gy DD e
4¢ h ’

a

[stci 2= QUFTD O DATEI0, £, - APR[ArDL0 BB SoBako
h - gro8 fgmoééw]

Options :

MLT |

=

, olBF]

[MILGT‘I]

. [MILIT‘E_

Question Number : 82 Question Id : 5500531202 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If a person moving along a straight line path covers first half distance with velocity
V" and the next half distance with velocity V', then the average velocity of the
person is

2069 Bar Srdod’ patrtiodd w B3 268 do ArTR) Vi’ oS0, St
2tfo Gy “Vy' Siod pairedn el Hows So

Options:

v, +V,

1 2

2

Question Number : 83 Question Id : 5500531203 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A stone of mass 2 kg is tied at one end of a string of length 2 m and 1s whirled in a
b L= L

horizontal circle. If the string can withstand a maximum tension of 64 N, then the

permissible maximum number of rotations per minute is

2kg 5003 (i Towd 2 m JTED Brigh s A58 Dfiod) &Suddrods
ST0 SArdod B BTy . & 28bocs 19T 6% S8 64N wowd A3
3 TPONS V0BG A BAVEFL D03
Options :

19

1. %

60

152

Question Number : 84 Question Id : 5500531204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body 1s moving with a uniform speed of 20 ms™ on a horizontal circle. The change
in velocity of the body in half revolution is

0% DAT0SE B0 P s S 20ms” Db 588 DR 8. o8 Forrds
8 B0 Sriodd” Arddy

Options :



20ms

10 1115'.'I

40 1115;'1

20
—1115
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Question Number : 85 Question Id : 5500531205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Force 1s the mutual interaction between the bodies is according to
2R 96 DV :.13:;’)5 B o3 51{:51565 e9n) 3RO
Options :
Newton’s first law of motion

:m@é 20 DD Daddoo

Newton’s second law of motion

- :ﬁ:ﬂ&é.:f@ Co&sd Hed daso

Newton’s third law of motion

mﬁeﬁ‘a SOTE S DD Qoo



Newton's law of gravitation

AR G Qoo
4, %

Question Number : 86 Question Id : 5500531206 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A motor vehicle of mass 1000 kg 1s moving on a circular road having banking angle
30° and coefficient of friction 0.2. Then the normal reaction force on the motor
vehicle is about

(Acceleration due to gravity = 10 ms™)

0 (eago 0.2 oBasw erfoso 10 30° o a8 HyTs0 8760 Sowac. 1000 kg
G[T73 o Artrdd rdo SHOQP &) 8. & T DAL Bdvow ST B
AR APS)IoY

(fhdod] Sybeso =10 ms?)

Options:

6750 N

1. %

. 9060 N

1070 N

Question Number : 87 Question Id : 5500531207 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a body has a potential energy of{4x’ +2x).T at a height of 2 m, then the force

acting on the body is

08 S 2 AR DG (4x°+2x)T D3 #8050 cof, D HIF o

Options :

% IN
27N
18 N
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Question Number : 88 Question Id : 5500531208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A freely falling body has attained a velocity of 2 ms”. Now, if the weight of the
body 1s opposed by upward air resistance. then the total distance travelled before
stopping 1

w8 D fobnﬁ()m 2088 ncodr 2 ms” IR ToBod. LR 23 DB O
B0 HASY o8 b VeSS PSR Hatredodd Ao drdo

Options :

1 % 4m



> % 8m

0.2m

4w 04m

Question Number : 89 Question Id : 5500531209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A spherical portion A of radius R is removed from a solid sphere B of radius 2R such
that the centre of the removed portion is same as the centre of the sphere B. The ratio
of the moments of ertia of the remaining spherical shell and the solid sphere B
about the axes passing through their diameters is

R m&&go e s 9P To B &0d R 053“80 o w8 Byrsed armraw A D
Fohorrdd. Soflots wdd artio dog) Sogo, fivo B Sogo 28 6 S0a. DAY

o B0k v fivo B alwg), oejtke o o8 add( rdvse And

Options :
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Question Number : 90 Question Id : 5500531210 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A circular disc of moment of inertia 3.5 kg m” is rotating with angular speed
30 ad 5T about an axis passing through its centre and perpendicular to its plane. The
torque required to stop the disc i 5 seconds 1

35kgm’ a6 erdodo o a8 T % 301ad s” Sriap 348 o serds
oo eoé o) Sogdo oo ol g Diore oo Saochid) &, DY 5

SIS’ YLD IV G
Options :

1 % o4 Nm
, % 42 Nm

5 % 10.5 Nm

21 Nm
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A particle initially at the mean position is executing simple harmonic motion with an
; n ; : : oy
angular frequency — rad s™. The ratio of the distances travelled by the particle in the
4

first second and second second 1s

PGogtods” Sresjs rido 3G &) s Sto % tad s §eboss S v0¥
rd)$ S0 Bakucdon) 8. M ot Sibak Botd pSetwd’ Sto
QOIrEIo Grore G

Options :
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Question Number : 92 Question Id : 5500531212 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The time period of a simple pendulum on the surface of the earth is T. The height
above the surface of the earth at which the time period of the pendulum becomes 2T
is

(Radius of the earth = 6400 km)

> 600 du0p w8 VL B'uZ BIYD S0 T. WG Two 2T o] Ao &
&nddvo Ao

(e;im"?ga“go = 6400 km)

Options :

. % 3200 km

- 6400 km

5 » 1600 km

4 % 800 km

Question Number : 93 Question Id : 5500531213 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The statements that are true about acceleration due to gravity, g
A. gis greater at poles.

B. g value decreases with height.

C. g value is same all over the earth.

D. g value is maximum at centre of earth.

208 T OES] BL6e00, g S Dosrodod) DOGHD
Al g dend Gyddne aﬁ%‘; w@ga}sm.

B. g Dewd dgod Fren S,

C. #0° odhtr g Dend D,

D. FrZ0g80 I¢ g BSOS,
Options :

A and B
| A H8a30 B

Aand D

A H8aiw D
2. %

Band C

B &06cin C
3. %

Cand D
4 % C &S06c30 D



Question Number : 94 Question Id : 5500531214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A rectangular metallic block of dimensions 40 mm X20 mm when pulled with a
tension of 50 kN undergoes only elastic deformation. The strain in the block is

(The shear modulus of the material of the block is 40x10° Nm™)

40 mm X20 mm &g SBUEFTE D% &) 50 KN seod wé dvo Jowd il ©d
28 08 drarodtn Arg GoBdd. 8 Husd’ seob S

(ovs dargip dng) 3 Fo8 bragiw 40x10° N

Options :

v 1.56x107 m

1.

24%x107° m

1 =3
_— 32x107 m

4w 1.08x107 m

Question Number : 95 Question Id : 5500531215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A steel ball of radius 0.05 cm and density 7.8 g em™ is dropped into a tank of water.
The terminal velocity of the steel ball is

(Density of water=1g em™ and viscosity of water = 0.001 Pa s)

{2 0.05 cm 8ok Foged 7.8 ¢ i (0 28 65y A 2,8 8 rjo8
&8 &8N, ¢ Avsdw dwg), 86,86 Sifw

(8 Fogd=1g cm™ )8 =0.001 Pas)
Options:

3.42 ms™
W

~ 1.81 ms™
2. %

5.11 ms™
3. %

]
-y '-l||' .
4 277 His

Question Number : 96 Question Id : 5500531216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A steel tape of 300 cm length is graduated at 27 °C. The length of a steel rod
measured using the tape is found to be 110 cm at 50 °C. The actual length of steel rod
at 50 °C 1s

(0 g = 12X10° K

300 cm Tédyie wé &) &) 27 °C 96 Sairdd R OUNATAEVATET AT
&0GrA0R WS 68, Sé T 50°C Sl Soudd 110 cm 5338, 00 50 °C
30 64, $6 e Tk dod

(@ et = 1.2X10°K)
Options :

1 110.03 cmm

110.10 cm

2. %

3 % 110.07 cm

4 % 110.62 cm

Question Number : 97 Question Id : 5500531217 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a Carnot’s engine if the temperatures of the source and the sink are decreased by
100 K each then the efficiency of the engine

w8 5°8) olvogo &' earioo SBakn ersabo o dg) et 846

100 K 808, aogo avg) avmg‘so

Options :



mcreases

Feloblobls blola]
1. ¢

decreases

StHS008

remains constant

%dcrﬁ &otnod

becomes one

2058) o BV0B

Question Number : 98 Question Id : 5500531218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A vessel that can withstand a pressure of 100 atm is filled with hydrogen at 27 °C up
to a pressure of 20 atm. If the vessel is heated. then the temperature at which it
explodes 1s

100 atm Ry 08w w8 PSS 27°C 3¢ 20 atm &R0 S8 PERD

TS0 odco 20008, S HE Derr, B8 HE ea;"’;je:'a

Options:

500K

1. %

, » 1000K



3 ¢ 1500 K

2000 K

Question Number : 99 Question Id : 5500531219 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The relation between absolute temperature (T) and pressure (P) of a gas in an
adiabatic process is

g D308’ a8 et D6 et (T) bk a¢do (P) o e

2020630
Options :

P’ T = constant

PY T = 30080
1. % @

5
P 'TY = constant

PHTY = 20000
2. *

= e
P T = constant

priTr= %}3@050
3. %



e
P' TV = constant

pY 7! = %D'“DSO

Question Number : 100 Question Id : 5500531220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5 - : i I -
If the average kinetic energy of a gas molecule at 27 °C is 3.3 x 10 "7, then the
average kinetic energy of the gas molecules at 127 °C is

27°C sglied 563 w$ vt wrmiw ity i 33 3.3 x 10771, 127°C 6l 6
03 P05 WEVV D (132 33

Options :

15x107%° ]
0.68x1072°7J
4.4x107%°]

103x107%7

Question Number : 101 Question Id : 5500531221 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A standing wave having 3 nodes and 2 antinodes is formed between two atoms

having a distance 1.21A between then. The wavelength of the standing wave is

1.21A &rdods’ &R) 006 DETFEDR)R mcﬁs 3 eﬂ"n}Doda’w 0803w 2

R0 $DAD B8 Sborfo I6\EDE. wand T 8601350

Options :

1.21 A
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Q
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Question Number : 102 Question Id : 5500531222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The radius of curvature of a convex lens 1s 40 cm. for each surface. Its refractive
index is 1.5. Its focal length 1s

28 oersey shdo & w8) ) 6DBv0 Y, SgT a‘}é&’go 40 cm. o)
béq&a’m Hesgo 1.5 oo s mw}go@do
Options :

1 ¢ 40 cm



20 cm

5 » 80 cm

30 cm

Question Number : 103 Question Id : 5500531223 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Diameter of the objective lens of a telescope is 250 cm. For light of wavelength
600 nm, coming from a distant object. the limit of resolution of the telescope is close
{0

w8 BrEBG R S Stso TR0 250 e R0ErE D) Qoc E0Ne0A) 600 nm

ejdoﬁ@géo to) 5706} & €3 {:ﬁjﬂﬁﬁﬁ%ﬂ aRg), 2 B:80e 958 Al

Options :

1.5x107 rad

1. %

, o 2:0x107 rad

. » 3.0x107 rad

4 % 4.5%107 rad



Question Number : 104 Question Id : 5500531224 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An electron of charge ‘e’ is moving round the nucleus of a hydrogen atom in a

circular orbit of radius ‘r”. The coulomb force F between the two is

‘hereK=—

\ 4ne, |

T (G0 6) w8 HTTY 4457 ¢ wdto o w8 TS w8 FEBS
6:50m20i8) Sogsso et HOHDD) B, w0 T Kuesy dreo weo F

|
(¢ K=—)
b 4me,

Options :

Question Number : 105 Question Id : 5500531225 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

oo - -r _
The potential is varying with distance (x) as V= ;(}-“ —4?{] volt. The electric field

atx=Imand y=1mis

I/,
&rdo (X) Ddorr @@Qcﬁ)eﬁ V= ;(y‘ —4x) volt & QP 8. 0o X = 1m

Qb Y= 1m S s £8 030

Options:
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Question Number : 106 Question Id : 5500531226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The space between the plates of a parallel plate capacitor 1s filled with a mica sheet

of thickness 1x10”m and a fiber sheet of thickness 0.5x10”m. The dielectric
constants of mica and fiber are 8 and 2.5 respectively. If the fiber breaks down at an

electric field of 6.4x10™Vm ™ then the maximum voltage that can be applied to the
capacitor is

28 Dirods HOY SFHLE Dug dodk| ared 1x107'm edo o D
B8R0, 0.5%107m dootio o b 5 3 Jodreh. o5 HoBoky Pwb D8
Bes R005°e0 ST § dobaso 2.5. pb 6.4x10°VI" Dekogd Ego B¢

)0 0B 3006 £ wkodGed o A6 ST
Options :

| % 3400V

L, 5200V

L x 2700V

, % 4800V

Question Number : 107 Question Id : 5500531227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two square shaped metal plates of A and B of same thickness (t) and of same
material are connected as shown in the figure. The side of B 1s twice that of A. If the

. . R, .
resistance of A and B are Ry and Ry respectively then —= is

B

28 DI & S04rG, 8 J0do (1) o Bt BSUETTY Tird Dogen A, B

DR DRAY’ drasty foHndsd. B ahog), Fudn, A FHuads 680,
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Options :
1
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3.0 1
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Question Number : 108 Question Id : 5500531228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given circuit, the potential at the point B with respect to the point A is

PEND H00DH0S” Dothdiy A DT Docidid B 56 S“ea@mé

6V,20
—AMA\—]—<—2
A 20 2A B
Options :
1% 6V
5 % -6V
3¢ 2V
4 % -2V

Question Number : 109 Question Id : 5500531229 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A wire loop of irregular shape carrying current is placed i an external magnetic
field. If the wire is flexible, the shape of the loop changes to

DEAG DTV SAEPS W56 M 600 EPi| WADTF) 08 EgotS
gomrdd. & [T &obl, o aiog), 85760 F° Ar6B000

Options :

helical

:’a&be.rs“ﬁonﬂ
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circular
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Question Number : 110 Question Id : 5500531230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The distance moved by a charged patticle along the magnetic field (the component
of velocity 1s parallel to the magnetic field) in one rotation is given by

( m — mass of the particle, v — velocity of the particle, q — charge of the particle,
B — magnetic field)

w8 Bdonod WaF) 08 Edo (Sto ), w0t oA 00 ETrS ddroddorr
G008 ) Doty 9 e35% S0 6T drdo
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Options :
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2
4, % qp

Question Number : 111 Question Id : 5500531231 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The axial field (Bs) and the equatorial field (Bg) due to a short bar magnet at equal
distances are related as

w8 T Somaio) 0d0 DD HArD GrTw S¢ Wi Edo (Ba) Hdais

D0B(ED EBo (Br) wowd a8 Sg| Dowatio

Options :

1% BA =2 BE
Ba=—2Be

2.V

- Ba=—Bg



Question Number : 112 Question Id : 5500531232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total emf induced in a closely wound coil of N turns in which the magnetic flux
‘ . . . ddp .

linked with the coil changing at the rate % i

M6 o8 N ot e Sriciod” ocSidocly eahid) o0 wdTired” &rddy

Gew % 000% TPAE’ 980 Hak) Ando EUS B0

Options:
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Question Number : 113 Question Id : 5500531233 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An inductor and a resistor of 25 Q are connected in series to an ac source of voltage
100 sin (100 =t ) volt. If the impedance of the circuit is 50 Q, the average power
dissipated per cycle in the circuit is

100 sin (100 =t ) volt S0 a8 ac 28573 a8 FS0 SBakw 25 Q 8o Ko

28 DBGL0d) 336 EDc, SVADOT BIBG0 50 Q WA, 58 $52S

Hoodod’ ciadgéoj)mmé kD avm%o

Options :

100 W

Question Number : 114 Question Id : 5500531234 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

An electric charge oscillating harmonically with frequency 750 kHz produces
electromagnetic waves of frequency

(Speed of light in vacuum is 3x10° ms™)

750 kHz ﬁég@éﬁoéﬁ o) Sore E0do B fErDo 2A0VB
DA 08 SBorre) o

(am?g oSrddods 08 H& = 3x10° ms™)



Options :

250 kHz

1. %

500 kHz
5 v 750 kHz

4 1000 kHz

Question Number : 115 Question Id : 5500531235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a photoelectric experiment, a graph is drawn with stopping potential along Y-axis
and the frequency of the incident light along X-axis. If the graph is a straight line
which makes an angle 6 with Y-axis, then tan 6=

(h - planck’s constant, e — charge of electron)
w8 I ekoyd peirtiodd” Ao TEIWS & Y- w509 SoBako DS
508 PREDD[0R0 X-050 P Gotdtd 28 TR Aowdds. & T Y- 850 §

B Emo &% HEWE wond tan 6=

(b - o8 Morodo, & - oo esiddo)

Options :

h

1.% €
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h
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h
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Question Number : 116 Question Id : 5500531236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In hydrogen spectrum. the shortest wavelengths of Lyman and Balmer series are
A, and A, respectively. The Rydberg constant of hydrogen is

FEad S0l TS L0 &b Fw TR BB0riT L0 AT
by S080%0 . grEad awg) 66 dorogo
PR = g 0@
Options :

:'J'n.-l K5 .?'-\.-q
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Question Number : 117 Question Id : 5500531237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The particle having zero mass is
Qsﬁécﬁ%} ROT? T (o) Seaad0
Options :

proton

DerS

,l 8 =

neutron

SUE{VES

photon

Derd

electron
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Question Number : 118 Question Id : 5500531238 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The hole and the free electron concentrations in a pure silicon at room temperature

ate given by 1.4x10°m™ each under equilibrium, When it is doped with indium

and the hole concentration is n, =4x10"m™, the electron concentration is

(56 &l 98 e DAY &) 398 MDD & Gogren, A HNOTRY M
£ @ @ @ -z

25) 98 14x10°m™. 5855 & wodobo & 20 B2 o Gogre) mrekes

1, =4x107m, @\t WS © e

Options :

., 049x 10°m™
0.14x10"%m™
0.36x10°m™

n 0.72x10%m™

Question Number : 119 Question Id : 5500531239 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When A =0 and B = 1, the output is 0 for
A=0:06030 B=1 2000 e & 0 Q0 @y & do

Options:
AND gate

AND wgém
1.¢ =

OR gate
OR cs='55m

X-OR gate
X-OR mﬁugdmj

NAND gate
~ NAND or(6om

Question Number : 120 Question Id : 5500531240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The refractive index of ionosphere is
@mﬁﬁa:}oﬁsé c0E), HSHD Koeeso
Options :

zero

fa:&‘a;l

1. %



more than one
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Question Number : 121 Question Id : 5500531241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



, . . , . h .
The angular momentum of electron in H atom in a particular n state is —. What is
T

the energy in J required to excite the electron from this particular n state to (n+1)
State?

(x=+2.18x107"])
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Question Number : 122 Question Id : 5500531242 Display Question Number : Yes Is Question
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Time:0



0
A photon of wavelength 3000 A strikes a metal surface. The work function of the
metal 1s 2.13 eV, What is the kinetic energy of the emitted photoelectron?

(b = 6626x107Ts)

0
9 pdoato 213 eV e a8 &o ag), 60830 3000 A $eoriEs.o o

By
Ferd & ordodivi, emrosvdiy S WTS (0293 dod?

(b = 6.626% 107]s)

Options :

. 40eV

L. 306V

L, 20eV

4 x 1.0eV

Question Number : 123 Question Id : 5500531243 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following indicates correct order of atomic size of the given
elements?

$0BTHS" J6 AIWED SwuFL DEXrE P2 WA GAT) APDE?

Options :

LiB>F>N

1. %



, « N>F>Li>B

F=N=B=>11

L] = B et N e F

Question Number : 124 Question Id : 5500531244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The elements with metallic nature in the following are

S08& e S5 D erdo $DA Al durosen

C, Si, Ge, Sn. Pb
Options:

Ge., Pb

, » Ge, Sn

4 v S0, Pb

Question Number : 125 Question Id : 5500531245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List—1I List—1I
Molecule / Ton Shape
A E 1. T-shaped
B. ClF; 2. See-Saw
C. H:0 3. Angular
D. SF4 4. Linear
2D
o —1 o —11
(e2£20d) / @9037°R) (aﬂsme‘_'%)
A B 1. T — 5780
B. ClF; 2. DD v
C.H,0 3. Sedabo
D. SE, 4. 3Dodo

Options :

o A-4B-1.C-3D-2

e, B—=1, =l Th—3

2. %

,x A-2.B-3,C-4,D-1

A-3.B-2,C-4,D-1
4, %

Question Number : 126 Question Id : 5500531246 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Given below are two statements
Assertion (A): Tonic compounds are formed by non-directional bonds
Reasoning (R): They are soluble in nonpolar solvents

The correct answer 1s

308 G0t TR0 BD(LTTOD.
DIydo (A): AP DI B3 G 2008 D\ T
somo(R): 0 DD oo o sdmo

"n}ﬁ@é NATTA0
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 208050 (R) e B0t HBHD 0805w (A) £ (R) 8D D3
1. %

Both (A) and (R) are correct and (R) is not the correct explanation of (A)

(A) 208030 (R) &0 Botd 2839, (A) & 285 ddde (R) 56
2. %

(A) 1s correct but (R) 1s not correct

| (4) 2338 53 (R) 2506 56

(A) 1s not correct but (R) is correct

(A) 9858 520 52 (R) 9838
4, %



Question Number : 127 Question Id : 5500531247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At T (K), a gaseous mixture confaining Hy, He and O, exerted a pressure of | bar.
The weight percentage of H; and He is 20 and 16 respectively. The partial pressure
(in bar) of Hy He and O»is respectively

T (K) ég, H,, He 0600 0) en do 28 aeodn a3 a¢da0 1 bar. Hy &80k
He © apdardo ™ 20 208akw 16. Hy He svbain 0y o T2 DEAA (bar
o) Hbdm

Options:

1« 0.625,0.250, 0.125

Question Number : 128 Question Id : 5500531248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The following data is obtained for one mole of a gas

The gas deviates from ideal behavior in the pressure (in bar) range
w8 Ard T $08 doroto 0Dedod. & ¢ (bar 0F) wdd (range) &

030 B0, Kaswaﬁm A0¢ 0o Bodow?

3l
P(bar) | RI

1 1
2 1
3 1
3.1 1.2
3.5 1.4
4.0 15

Options:

1 % 1103

, x 2to4

Lo 311040

4 % 1104

Question Number : 129 Question Id : 5500531249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reaction
So8 98(R 8IDoctusw
aP,(s)+b OH(aq)+H,0(1)— cPH,(g)+dH,PO; (aq)

a, b, c and d are respectively
a, b, ¢ do8aswn d e HDHIMT

Options :

Question Number : 130 Question Id : 5500531250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If for the reaction CCl,(g) - C(g)+4Cl(g) the following data is given
&mPHE‘ CCl,(1) =30 kJ mol™, vap = vaporization

AH o, =-136.0 kI mol”, f =formation

AH. = 7140 kI mol”, a=atomization

&EHH% = 2420k mol”, a= atomization

the bond mean enthalpy of C-Clin CCls (1) 1

CCly(g) = C(g) +4CI(g) 36(20 Sobs Bgrodo oVIWEIS,

A Hccy, (1) =30 kI mol™, vap = eraxgasdo

AH e, =—136.0 KT mol™ . f =086

AH', = 7140 kTmol™, a=06aressen

ot

Al = 242.0kT mol™, a=H85ra50m

@and CCly(1) & C-Cl w06 2w Jogrdy Jos?

Options :

2. &

292



Question Number : 131 Question Id : 5500531251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If S L of an ideal gas at a constant external pressure of 2 atm expands isothermally
to a final volume of “X" L, the system does a work of -2,026.4 J. ‘X’ (in L) is

(1L.am=101.327)

2 atm ;:gd w’faﬂ?g A0 écg 2L eﬁcﬁdgmoﬂw@ “co&ri.;{ Do b
200080 XL & a«»}g%‘iao@‘ﬁ 5% Bk D 0f -2,026.4 T eand ‘X’ (Loe)
(1L atm=101.321)

Options :

25

Question Number : 132 Question Id : 5500531252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole of A (g) is heated to T (K) till the following equilibrium is obtained

A ())=—=8(g

The equilibrium constant of this reaction is 107, After reaching the equilibrium,
0.5 moles of A (g) is added and heated. The equilibrium is again established. The

[A]

value of =— 18
B
w8 A7 A (2) D 08 ddoee NS bcbm 56%, T (K) £ 5 S

A (g)=—=B(g

& ti6] AT E_)aeta 0080 107, ddoer f‘geﬁ’a DODI) So°B, 0.5 S A (g) D

B 3¢ Bobrt 358 B0 0 26 dods % e

Options :
10"

1. %

10

3 % 10~

4w 100

Question Number : 133 Question Id : 5500531253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following species

AICL,.NH,. H".Co™","OH, H Mg”", BE,. CI’
How many Lewis bases are present in the above list?
208 LA H8IDotawn

AICL,.NH,. H".Co*. OH, H" Mg™", BE,. CI

D DTS FOD FTT°V Vo] JoS?

Options :

Question Number : 134 Question Id : 5500531254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statement(s) is/are correct
a) NaH is non-volatile hydride

b) MgH> is polymeric hydride

¢) NHj is an electron precise hydride

d) H>O is an electron rich hydride

S065 RBERD DBGERS” DB/ DD DJHD?
a) NaH eeri3y39 Foyfola

b) MgH, 92088 3rg&

¢) NH; Qo570 S \dorr o Foals

d) H,O D*—’E"@ eaSorr e z.gﬂ%ci

Options : )

a.b & d only

a.b & d reh, o
1.4

a, b & c only

a.b & ¢ S

b only

b &g

¢ & d only

¢ & d &g
4, %



Question Number : 135 Question Id : 5500531255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

For a good quality cement the ratio of silica to alumina should be in the range of

2000) 680 0t & Hdse Baky SUPVT © IS W
Options:

v 25-40

L« 0.1-1.0

1.0-1.5
3. %

4% 5.0-80

Question Number : 136 Question Id : 5500531256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In the below reaction, geometry of BCls, X respectively are
& o0& 56(&S”, BCls, X © 2 Qodduen S
BClz; + NH; —» X
Options :

Pyramidal, tetrahedral

DB, WAL Do

1. %



Pyramidal, octahedral

DEES, 9RH0DDL

Trigonal planar. tetrahedral

S8t DAOBY. BBOE) DD
3.9

Trigonal planar. octahedral

S8 DBV, WRBVDAD

Question Number : 137 Question Id : 5500531257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which one of the following pairs, both oxides are acidic?
308 O 208" Bocd BB s VD) $9A cotran?
Options :

.« CO,CO,

5 % SnO. PbO;

3 GeO, S]Og

4 = Sno, PbO



Question Number : 138 Question Id : 5500531258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following compound does not exhibit geometrical Isomerism?

308 THS I £ RN DEG 0!

Options :
2 — Butene

2 — mg&%

3 — Hexene

3 — 35“%:]5

But — 2 — enal

aw5é5 — 2 — &8

Styrene

fees
Crn
Ejfl

Question Number : 139 Question Id : 5500531259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements with respect to cis/ trans-2-butene from the following

R/ EPRY2- 60D € 2080800 VFod TRV HBoised

. c1s — 2 — Butene 1s more polar than trans — 2 Butene

DR~ 2- aR(B3, Erdy-2- upBd ) S G S8R SDA Potwod

I1. melting point of cis — 2- Butene is greater than that of trans — 2- Butene

R 2- g d0g) BB o, &ry2- e ST Iy I Gocau
I11. boiling point of cis — 2- Butene is greater than that of trans — 2- Butene

B2 msﬁ& ag), wﬁ:ﬁﬁbﬂ@%o, &ry2- ms&é $R) D O otokd
cotrect answer is
R00VA NATTE0
Options :

L. IT only
L 1T soeedan

1. %

I1. IIT only

1. TIT #0°e$ad
2. %

L. IIT only

I. IIT S
3.¢

4 % LILII



Question Number : 140 Question Id : 5500531260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The formula of nickel oxide is Nijg O, ,,. What is the approximate percentage of

CE e
Ni™ mit?

58 65\& Fyer Nigg 0, . &I Ni™ 7o creriyre Joss?
Options :
1. % 92

5 % 94

3.v 96

4 % 98

Question Number : 141 Question Id : 5500531261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the osmotic pressure of cane sugar solution is 2.46 atm at 27 °C, then what is the
concentration (in mol L1) of the solution (R=0.0821 L atm mol” K7)

27°C 54 ©99) 6 graeo 0dus), Gardades D¢ Deusd 2.46 atm wond & grdeo

a38), e (mol L 0¢’) dod? (R=0.0821 L am mol” K™)
Options :

v 01



Question Number : 142 Question Id : 5500531262 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A solution is formed by the combination of two liquids such as dichloromethane and
chloroform. The pattial pressures of dichloromethane and chloroform in solution are
285.5 and 62.4 mm Hg respectively. What is the total pressure of the solution?

EEBBS QBakv EGT00 00 Bt Gty SDRIYE s Trdmo
6\Codo08, graesod’ D g 48 weren S 285.5 mm He 80k
62.4 mm He ™ &3°) ow. gradeso obog), dwdo D0 Joeh?

Options :

, 223.1mmHg

1.

5 347.9 mm Hg

357.9 mm Hg

-

337.9 mm He
4, % =



Question Number : 143 Question Id : 5500531263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Consider a gas phase reaction which occurs 1n a closed vessel
2 ad) B 2600 w8 ok @;sﬁ:{g $96{%) DBtfedocsod,

2A=4B+C

The concentration of B is found to be increased by 5x10™ molL™ in 10 seconds.

The rate of disappearance of A (in mol L' s™) is
10 288 008’ B metedd” ddotcse 5x10° molL™ eowd, A DIcketisady
Gew (mol I's™ o)

Options :

Question Number : 144 Question Id : 5500531264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The electrolvte used in mercury cell is

2060,

(8 2060 &5° eDBrAD Juggéﬁ (Desogaggagso)



Options :
Moist paste of NH,Cland ZnCl,

| . & NHCldo6oso $d ZnCLeo 5

38% solution of H SO,

38% H,SO, gradeao
2. % )

Paste of KOH and ZnO

KOH 08030 ZnO o 3353
3. %

Paste of MgCl, and HgO

MgCl, &v8od» HgO o o
4. % £l

Question Number : 145 Question Id : 5500531265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
This equation represents the preparation of gold sol by

BS &5 $03r63 20808008 & DWEGE0 BID digo BB

2 Au(‘13 +3HCHO+3H,0 -2 Au+3HCOOH + 6HCL
Options :
Oxidation

253 S6800

1. ®



Reduction

Sosdeo
2.

Double decomposition

. d50d5 QAT 50

Hydrolysis

R JBAE0
4, %

Question Number : 146 Question Id : 5500531266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2.0 g of activated charcoal 1s added to 100 mL of 0.5 M acetic acid (molar mass 60 g
111014)* shaken well and filtered. The concentration of solution is reduced to 0.4 M.
How many grams of acetic acid 1s adsorbed on charcoal per gram?

100mL © 0.5 M J0e8 a0 (Arerd @iio-3 60 gmol’) £2.0g0 adad oo
86 &0 $9% e ArgBod, SEe'F. Trdno TPES 0.4 M $ 8ol w8 T
6 §6 D) e B8 o 06T 10 Bodod!?

Options :

1' i 0.1

2 23 0.2

-



0.15

Question Number : 147 Question Id : 5500531267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correct statements from the following
L. Brass is an alloy of copper and nickel
I1. Bronze is an alloy of copper and zinc

III. German silver is an alloy of copper, zinc and nickel

I'V. Brass is an alloy of copper and zinc

308 TP’ DO TV HGoria

[ add, 5706 H0datn IS © B &0

I1. Sotdd, 5°H6 HoBoin 2oS © DE &S sro

I 26,0 Jog6, 5706, 208 8oty IS © Mg &'iro

[V. 2, 5706 08050 205 © g &'5ro
Options :

I & II only
L, L& T oo

IT & III only

11 & III S
2. %



III & IV only

I & TV g
3. ¢

[ & IV only

I& IV drghad
4. ®

Question Number : 148 Question Id : 5500531268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-I List II

(Molecule / ion) (Number of lone pairs of electrons on the central
atom)

A) XeF I)2

B) Xe0; 1) 0

C) XeF4 1) 3

D) PE V) 1

The correct answer 15

308 TR ADAEXAW
-1 sl ||
(e963069)/ €3030R) (06 DEATERY) D6 (5 20008 2 JUTR V02
A) XeF 1)2
B) XeOs )0
C) XeF4 1) 3
D) PE. V) 1
283 HAFEED0
Options :

1@ A-TII. B-IV. C-I. D-II

« A-L. B-II. C-IV, D-III

3 « A-IL B-1 G-I D-IV

4 » AJIL B-IV, C-IL D-I



Question Number : 149 Question Id : 5500531269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Arrange the oxides C1O, CrOzand CryOs in the decreasing order of acidic strength
C10, C103 0800 Cr0353\6 00 T4 B wwo 8 800 3} 90652
Options :

1 CrOs; = CrO3 = CrO
5 % CrO; = CrO > COs;
w CrO > Cl‘go_:, = CI’Og

4% CrO = CrOs>= Cr03

Question Number : 150 Question Id : 5500531270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TUPAC name of | Pt(NH,), C1(NH,CH; ) |Cl is

-
|

| Pt(NH, ), C1(NH,CH; ) |CL. TUPAC ar&vo
Options:

(Amino methane) chloro (diammine) platinum (II) chlolide

(AT DB) §6 (8 D) arddo (1) §3&

1. %



Chlorodiammine (methanamine) platinum (II) chloride

FEEADD (3dR0D) F&ddo (II) §8&
2. %

Diamminechloro (methanamine) platinum(IT) chloride

. EAD §8 (esd0D) 8o (1) §3&
3. ¥

Diamminechloro (methylamine) platinum (IV) chloride

EAR §8 (WRSID) o (IV) §8&
4, ®

Question Number : 151 Question Id : 5500531271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the polymer is used in the controlled release of drug?

208 @ T8 B Doodeh TN DG TeeOTEE?

Options :



%HNMHNj\/\/\ﬁ
Jf Hw\iﬁwﬁn

Question Number : 152 Question Id : 5500531272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following are fibrous proteins?
Keratin  Insulin  Myosin  Albumin
A B L D
308 ToeS* Dt D o DD?
3OS -‘:;1:{133&)5 DOCBT R e_w_ugjmfa
A B C D

Options :

1% AB



Question Number : 153 Question Id : 5500531273 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following hormones modulate inflammatory reactions?
308 Q B ew Do) HE BB S DEFW?
Options :
Mineralocorticoids

&adéﬁ?g?méﬁ

Glucocorticoids

s’ S* O oG

Epinephrine

DD IS

Glucagon

s

Question Number : 154 Question Id : 5500531274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Correct statements with respect to morphine (X) and Veronal (Y) are
A.Both X and Y are sleep producing agents

B. X is hypnotic and Y 1s analgesic

C. X is analgesic and Y is hypnotic

D. X is non narcotic analgesic and Y is antidepressant

S8y (X) dobasn 2B (Y) 2 20208003 DT b6

A X dobain Y en Goth g 8408 S5

B. X or)') 35 208050 Y e 225

C. X T8 05 ok Y o)’y S

D. X 7°8),85 $T°3 Boid Je 225 6oty Y oirotdpiots
Options :

.« AB

4. ® {:.D

Question Number : 155 Question Id : 5500531275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify X and Y in the following reaction

Sod 6(S” X, Y o dfocdoc.

(i) X
CH,=CH >  CHy;CH,I
(i) Y

Options :

| HBr, Nal/dry CH3COCH;3

2. % HBr. I/dry CH3COCH3

3 Brs, Nal/dry CH3;COCH;

4 % Br, In/dry CH3COCH;

Question Number : 156 Question Id : 5500531276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Chlorocyclohexane is
g8 j@%ﬁﬁﬁ%b ISt

Options :

Primary alkyl halide

%mé ©9) &S SPOE



Tertiary alkyl halide

830 8) S GG

Allylic halide
. JOOS HPSE

Secondary alkyl halide

J v R%ocd g) S H*SE

Question Number : 157 Question Id : 5500531277 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following reagents will convert isobutyraldehyde to the corresponding
acid?

306 9 sd57en Y eaviBod 2rE & T Vowodd o Srdrron?
HNO, NH,NH,/OH 2/ Ag(NH,),[  NaOH

I I I IV

Options :
o LI

, % LI

L ILIV



4 x OLIV

Question Number : 158 Question Id : 5500531278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What are ‘X" and “Y " respectively in the following reaction sequence?

308 1:5{5593""’ X 08050 Y’ e S0 ?

Styrene (i) KMnO, / KOH Br, [ FeBr,
W (i) HO * '
Options :
@CHECOOH : .CH,COBr
1. % !
QCHQCODH : .CH,COQOH
> % g Br
@CDOH Q/CDOH
3 Br
@COOH : _COBr

4. %



Question Number : 159 Question Id : 5500531279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are ‘X’ and “Y " in the following reaction?

o0& csqgeff‘ X’ 08050 Y e 292

CHO Conc. (¢ ) NaOH
- X = ¥
A\

Options :
OH COONa
y + 9
1, %
CH,0H COOH
T Y
2. %
CH,OH COONa
@ +
3.¢
CH,ONa COOH
T + y
4, %

Question Number : 160 Question Id : 5500531280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The sequence of reagents required to convert aniline to benzene nitrile are

DD & Bodd VS BB\ETRS SOV SUE S0
Options :

NaNO, + HCI, 293-298 K : CuCN/KCN

1. %

- NaNO, + HCl, 273 -278 K : CuCN/KCN

- NaNO, + HCl, 273-298K : Cu/HCN

CL./ Ee; KCN

4. %



